## Kansas Corporation Commission Oil & Gas Conservation Division

ORIGINAL FO

Form ACO-1 October 2008 Form Must Be Typed

# WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License # 31171	API No. 15 - 163-237 \$ -0000
Name: Continental Operating, Co.	Spot Description:
Address 1: 1 Houston Center, 1221 McKinney, Ste 3700	_sw_NE_NW. Sec. 32_Twp. 8_s. R. 17 Fest West
Address 2:	990 Feet from North / South Line of Section
City: Houston State: Tx Zip: 77010 +	Feet from ☐ East / ☑ West Line of Section
Contact Person: Greg Mitschke	Footages Calculated from Nearest Outside Section Corner:
Phone: (713) 209-1110	□ne 2/nw □se □sw
CONTRACTOR: License # 33493	County: Rooks
Name: American Eagle Drilling, LLC	Lease Name: Stamper A Well #: 16
Wellsite Geologist: none	Field Name: Dopita East
Purchaser: Plains Pipeline RECEIVED	Producing Formation: Arbuckle, LKC
Designate Type of Completion:	Elevation: Ground: 1968' Kelly Bushing: 1973'
New Well Re-Entry Worko FEP 2 1 200	Total Depth: 3450' Plug Back Total Depth:
Gas ENHR SIGW KCC WICHI	Multiple Stage Cementing Collar Used?
CM (Coal Bed Methane) Temp. Abd.	If yes, show depth set: DV tool @ 1280 Feet
Ory Other (Core, WSW, Expl., Cathodic, etc.)	If Alternate II completion, cement circulated from:1280
If Workover/Re-entry: Old Well Info as follows:	feet depth to: surface w/ 300 sx cmt.
Operator:	Drilling Fluid Management Plan AIF II NIR 10-8-09
Well Name:	(Data must be collected from the Reserve Pit)
Original Comp. Date: Original Total Depth;	Chloride content:ppm Fluid volume:bbls
Deepening Re-perf Conv. to Enhr Conv. to SWD	Dewatering method used: Vac truck
Plug Back: Plug Back Total Depth	Location of fluid disposal if hauled offsite:
Commingled Docket No.:	•
Dual Completion	Operator Name: Continental Operating, Co.  Lease Name: Stamper C License No.: 31171
Other (SWD or Enhr.?) Docket No.:	
Spud Date of Date Reached TD Completion thate or My N	Quarter Sec. 32 Twp.8 S. R. 17 East West
Spud Date of Date Reached TD Completion Date or Recompletion Date	County: Rooks Docket No.: E26, 843-0003
INSTRUCTIONS: An original and two copies of this form shall be filed with Kansas 67202, within 120 days of the spud date, recompletion, workover or co of side two of this form will be held confidential for a period of 12 months if requirality in excess of 12 months). One copy of all wireline logs and geologist well BE ATTACHED. Submit CP-4 form with all plugged wells. Submit CP-111 form	nversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information uested in writing and submitted with the form (see rule 82-3-107 for confident report shall be attached with this form. ALL CEMENTING TICKETS MUST
All requirements of the statutes, rules and regulations promulgated to regulate the are complete and correct to the best of my knowledge.	ne oil and gas industry have been fully complied with and the statements herein
Signature:	KCC Office Use ONLY
Title: Gregory A. Mischke Date: 9/18/09	N Lamour of Confidentiality Description
Senior Vice President	Letter of Confidentiality Received  If Denied, Yes Date:
Commonius obermania co-	Wireline Log Received
20 0 9 .	Geologist Report Received
Notary Public: 1ely J. Tall	UIC Distribution
Date Commission Expires: 6-2J-13 KELLY J. HA	

#### Side Two

Jperator Name: Co	ntinental Opera	ting, Co	).	Lease	Name: _	Stamper A		Well #: 16	
Sec. 32 Twp8				Count	y: Roc	ks			
INSTRUCTIONS: Si time tool open and cl recovery, and flow rat surveyed. Attach fina	osed, flowing and shi tes if gas to surface to	ut-in press est, along	ures, whether s	hut-in pres	ssure <b>r</b> ea	iched static level	l, hydrostatic pres	sures, bottom r	iole temperature, fluid
Drill Stem Tests Taker (Attach Additional		<u></u>	es 🗹 No		٧	.og Formatio	on (Top), Depth ar	nd Datum	Sample
Samples Sent to Geo	ological Survey	Y	∕es ☑No		Nan			Top <b>3202</b> '	Datum -1234'
Cores Taken		_ Y			LKC			3284'	-1316'
Electric Log Run (Submit Copy)		<b></b> ✓ Y	′es ∏No		LKC	K		3322'	-1354'
List All E. Logs Run:					Con	gl.		3396'	-1428'
•	n, Gamma Ra	ay, Con	npensated				RE	CEIVED 2 1 2009	
Neutron Den	sity, Cement E	Bond					SEP	2 1 202	
		Rén	CASING	RECORD	☐ N	ew Used	tion, eta KCC V	<del>~ 1 2009</del>	
Purpose of String	Size Hole Drilled	Si Se	ze Casing et (In O.D.)	We Lbs.	ight . / Ft.	Setting Depth	Type of Cement	VICISILIFA Used	Type and Percent Additives
Surface	12 1/4"	<del> </del>	5/8"	23		218'		160	
Production	7 7/8"	5	1/2"	15.	.5#	3443'	Top -Com 60/40	300	6% gel, 1/4# Flo
							Bottom - ASC	150	2% gel, 10% salt
			ADDITIONAL	CEMENT	ING / SQ	UEEZE RECORD	)		
Purpose:	Depth Top Bottom	Туре	e of Cement	#Sacks	s Used		Type and F	Percent Additives	
Protect Casing Plug Back TD			•						
Plug Off Zone									
	PERFORAT	ION RECOI	RD - Bridge Plug	s Set/Tyne		Acid Fra	acture, Shot, Cemen	Squeeze Recor	d
Shots Per Foot	Specify	Footage of	Each interval Perf				Amount and Kind of Ma		Depth
4	3228' to 323	6'	<del> </del>		1000 gal 20%				
4	3286' to 329	6'	· · · · · · · · · · · · · · · · · · ·		1000 gal 20%				
4	3330' to 334	2'			1000 gal 15%				
4	3398' to 340	4'				1500 gal	20%		
TUBUIC 050000									
TUBING RECORD:	Size:	Set At		Packer A	At:	Liner Run:	Yes No		
Date of First, Resumed 6/1/08	Production, SWD or Er	shr.	Producing Meth		Flowin	ig 🗹 Pumpi	ing Gas Li	t Dthe	er (Explain)
Estimated Production Per 24 Hours	Oil 5	Bbls.	Gas	Mcf	Wa	ter E 35	Bbls. (	Gas-Oil Ratio	Gravity
DISPOSITI	ON OF GAS:		N	METHOD OF	F COMPL	ETION:		PRODUCTION	ON INTERVAL:
✓ Vented Solo		=	_	_	Duall	y Comp. 🔲 Co	mmingled 32	28' to 3404'	
(If vented, Su	bmit ACO-18.)		Other (Specify)						· · · · · · · · · · · · · · · · · · ·

\_@\_\_

@\_\_

## ALLIED CEWENTING CO., LLC.

30274

			6		
.EMIT TO P.O. BOX 31	- 14 C 11 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	······································	SER	VICE POINT:	
RUSSELL, KANSAS 67665			<del></del>		sell
DATE 3-11-08 SEC. TWP. RANGE	CALLED	OUT	ON LOCATION	JOB START	JOB FINISH
LEASE Stamper WELL# A 16 LOCATI	ON Plainville	5% N	to Rd R	COUNTY Rooks	STATE
OLD OF NEW (Circle one)				NOOKS	1)2)
1		<del></del>		ا	
	OWN	IER			
TYPE OF JOB Jurface Job HOLE SIZE 12/4 T.D. 22	CIENCE CONTRACT	e de la compansión de l			
HOLE SIZE 12/4 T.D. 22 CASING SIZE & SE DEPTH 26		IENT	EDED // 0		c ~ ~ 451
TUBING SIZE DEPTH	AMO	OUNT ORL	ERED <u>/60</u>	(on 5	XCC diso
DRILL PIPE DEPTH					
TOOL DEPTH		<del></del>			
PRES. MAX MINIMUM	COM	MON	160	@ 12. 15	1944.9
MEAS. LINE SHOE JOIN'		<del></del>		_ @ <i>112.</i>	
CEMENT LEFT IN CSG. 15'	GEL		3	@18 35	(4 75
PERFS.		ORIDE	5	@51.03	255, 00
DISPLACEMENT 13 14 661	ASC			@	
EQUIPMENT	RECEIV	ED.		@	
	<u></u>	· · · · · · · · · · · · · · · · · · ·			
PUMPTRUCK CEMENTER Shane	SEP 21	2009			
# 366 HELPER Matt		-		@	
BULK TRUCK	KCC WIC	:HITA			-
# 362 DRIVER Travis	7,00 1113				
BULK TRUCK				_@	
# DRIVER	***		. / 5	<u> </u>	244 40
		DLING	168	@ 2.05	37(,
REMARKS:	MILE	AGE	SKIMI		
REMARKS;				TOTAL	3278.5
			SERVIO	<b>ਾ</b> ਵ	
			- ODKVI		····
	,	H OF JOB			
CAMENT CITE			CHARGE		893.
/	EAIR	A FOOTA		@	
		AGE <u>4</u>		@ 7,00	3/5, 35
	MANI	FOLD			
_		·		.@	
CHARGE TO: Continental Op		<del></del>		. @	
STREET	PERATING			TOTAL	1208.00
CITYSTATEZI	P				
		PL	UG & FLOAT	EQUIPMEN	T
Thanks	<del></del>				
I NAMES,	<del></del>	-5/2 11	bad Alug	@	1100
T 111 10			eux iva	<u> </u>	-bb:

To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment and furnish cementer and helner(s) to assist owner or



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice:

(785) 483-3887

Fax:

(785) 483-5566

#### Bill To:

Continental Operating Co. P. O. Box 52 Hays, KS 67601

		W	0			
--	--	---	---	--	--	--

Invoice Number: 112861

Invoice Date: Mar 13, 2008

Page:

1

Custon	ner ID	Well Name/# or Customer P.O.	Payment *	Terms	
Cor	nt -	Stamper A#16	Net 30 Days		
Job Loc	ation	Camp Location	Service Date	Due Date	
KS	)	Russell	Mar 13, 2008 4/12/08		
Quantity	item	Description	Unit Price	Amount	
160.00	MAT	Class A Common	12.15	1,944.00	

Quantity	item	Description		Unit Price	Amount
160.00	MAT	Class A Common		12.15	1,944.00
3.00	MAT	Gel-		18.25	54.75
5.00	MAT	Chloride		51.00	255.00
168.00	SER	Handling		2.05	344.40
45.00	SER	Mileage 168 sx @.09 per sk per mi		15.12	680.40
1.00	SER	Surface		893.00	893.00
45.00	SER	Mileage Pump Truck		7.00	315.00
1.00	EQP	Wooden Plug	RECEI	VED 66.00	66.00
			SEP 2	2009	
			KCC WI	CHITA	
		Hamper A 20.08 Ruh New Well			·

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 455.25

ONLY IF PAID ON OR BEFORE

Apr 12, 2008

Subtotal		4,552.55
Sales Tax		122.95
Total Invoice Amount		4,675.50
Payment/Credit Applied	·	
TOTAL		4,675.50

# ALLIED CEMENTING CO., LLC. 30197

ZMIT TO P.O. I					SER	VICE POINT:	
RUSS	SELL, KA	NSAS 676	65			Russel	l KS
			<del></del>				3-15-08
DATE 3-15-08	SEC. 32	TWP.	RANGE	CALLED OUT	ON LOCATION	JOB START	JOB FINISH
Stamper A LEASE	WELL#	16	LOCATION Pia.	wille Morth	to Rd R	COUNTY Rooks	STATE KS
OLD OR NEW C	rcle one)	•	3 East				
A A		, <u>, , , , , , , , , , , , , , , , , , </u>			**************************************	<b>ل</b> ـــ	
CONTRACTOR	Ameri	ican E	agle Rig	#3 OWNER			
TYPE OF JOB Lo	ngstrib	9 D-V	and Stage				
HOLE SIZE 17	8	<u>T.D</u>	3480	CEMENT	_		. 4. 11.
CASING SIZE 5	1/2		<u>РТН З444.7:</u>	AMOUNT OF	rdered <u>300</u>	6940 6%	Gel 44 Flo
TUBING SIZE			PTH	· · · · · · · · · · · · · · · · · · ·			
DRILL PIPE		DE	РТН		Made Problems 1970		
TOOL Multi-St	ge Coll		PTH 1280.33	· · ·			
PRES. MAX			NIMUM	COMMON	180	_@ <u>/2,15</u>	2187,00
MEAS. LINE		SH	DE JOINT	POZMIX	120	@ 6.8º	8/6,00
CEMENT LEFT IN	CSG.			GEL	15	_@ <u> \$.25</u>	273,75
PERFS.		7 04 4		CHLORIDE _		_@	
DISPLACEMENT				ASC	, _ , ,,,,	_@	
	EQU	IPMENT		Flo Stal	`` ファ <del>'</del>	@ 2.20	165,00
			•	<del></del>		_ @	
PUMP TRUCK	CEMENT	ER Joh	a Roberts	Bill -	RECEIVE	<b>3</b> @	
# 409	HELPER ,	Adrian			POLIVE		
BULK TRUCK	_			***************************************	SEP 2 1 20	ng	
# 396	DRIVER	Kock	'U				
BULK TRUCK			لسر		KCC WICH	TA	• •
#345	DRIVER	Douc		HANDLING_		@ 2.05	651.90
		_			os/sk/mile	_ @ <u>Ø. Øs</u>	1287.90
	REN	MARKS:		MICCAOL A	Harfra IX		
NV6 :104						TOTAL	<u> 5381.51</u>
DV@ 1280.	sa Up	en Cemen	t ports circ. 301	w'n_			
15 sks Rathage			,		SERVI	CE	
Coment do	el Cil	<u> </u>					
				PUMP TRUCK	CHARGE	-	1,045,00
				EXTRA FOUT	TAGE 45		
		*******		MARIN OLD			
CUARCETO, C.	. 1	مند	12			_@	
charge to: <u>C</u> o	WITTACK	stal Up	erating Co.	W			1200
STREET				<u> </u>		TOTAL	1360,00
CITY	\$17	₹1 E	ZIP		PLUG & FLOAT	EQUIPMEN	Т
To Allied Cement	ing Co I	LC.					
	- o · · · L						



24 S. Lincoln Street P.O. Box 31

Russell, KS 67665-2906

Voice:

(785) 483-3887 (785) 483-5566

Fax:

Bill To:

Continental Operating Co.

P. O. Box 52 Hays, KS 67601

### INVOICE

Invoice Number: 112935

Invoice Date: Mar 17, 2008

Page:

: 1

Customer ID	Well Name/# or Customer P.O.	Payment	· · · · · · · · · · · · · · · · · · ·
Cont	Stamper A #16	Net 30	
Job Location	Camp Location	Service Date	Due Date
KS	Russell	Mar 17, 2008	4/16/08

Quantity	Item	Description	Unit Price	Amount
180.00	MAT	Class A Common	12.15	2,187.00
120.00	MAT	Pozmix	6.80	816.00
15.00	MAT	Gel	18.25	273.75
75.00	MAT	Flo Seal	2.20	165.00
318.00	SER	Handling	2.05	651.90
45.00	SER	Mileage 318 sx @.09 per sk per mi	28.62	1,287.90
1.00	SER	Longstring - Second Stage	1,045.00	1,045.00
45.00	SER	Mileage Pump Truck	7.00	315.00
		Stamper 4-2-08 RND Well	RECEIVED SEP 2 1 2009 CC WICHITA	

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 674.15

ONLY IF PAID ON OR BEFORE

Apr 16, 2008

Subtotal	6,741.55
Sales Tax	182.41
Total Invoice Amount	6,923.96
Payment/Credit Applied	
TOTAL	6 923 96

TO P.O. BOX 31 RUSSELL, KANSAS 67665

c	ED	VΤ	CE	DO	INT:	
2	EK	.VI	しこ	PU	1. 1.	

RUSS	SELL, KA	NSAS 676	565			Russ	rell KS
JATE <b>3-15-08</b>	SEC.	TWP.	RANGE	CALLED OUT	ON LOCATION	JOB START	JOB FINISH
Stamper A	WELL#	160	LOCATION Pla	nville North	to DID	COUNTY	STATE KS
		<i>.</i>		NUTHE FUOVE	TO ACA	Rooks	
OMD OR NEW Ci	reie one)		3 East.				
CONTRACTOR A	Amoria	an E	salt Ria#2	OWNER			
نوک ГҮРЕ OF JOB	na Stri	a D-V	Ist. Store	3711333			**************************************
HOLE SIZE 7 %	<b>ວ</b> ້	TI	3450'	CEMENT			
CASING SIZE 5	1/2 1	5.5 F DE	PTH 3444.73	AMOUNT OR	DERED 150	ASCA	% Get 10%
TUBING SIZE			EPTH	500 gal-			
DRILL PIPE			PTH				
rool Multi-s	itage Co	llar DE	EPTH 1280.33	, <del> </del>			
PRES. MAX		MI	NIMUM	COMMON		@	
MEAS. LINE			OE JOINT 19.24	POZMIX		@	
CEMENT LEFT IN	I CSG.	14.24	f	GEL	_3	<u> </u>	54.75
PERFS.				CHLORIDE _		@	
DISPLACEMENT	81.	53 Bb	<u> </u>	ASC <u>/50</u>		@ <i>_/5.0</i>	<u>5 2252 s</u>
	EQU	JIPMENT	ſ			@	
				500 Gal	WFR-2		<u>550,00</u>
PUMP TRUCK (	CEMENT	ER Joh	n Roberts I	311 Soft	14		294,00
		Adria		******		@	
BULK TRUCK	<u></u>		<u> </u>				
# <b>396</b> 1	DRIVER	Korku				@	<del></del>
BULK TRUCK		1				@	
# <b>34</b> 5	DRIVER	Noula	LAS	7 1 4 3 175 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7	11.	@ <i></i> _	72/ 00
	,	/		- HANDLING_	160	@ <u>2,10</u>	
	D.T.	A CA DIZO	R	ECEIVED	9/sk/m.le		576.00
	, KE	MARKS:			٠.	TOT	AL 4,068,2
			S	P 2 1 2009			
0.00		" T 110	1/0-		SERV	ICE	
Baffle Insert	<u>1 € 34</u>	25.47	KCC	WICHITA DEPTH OF JOI PUMP TRUCK	····		
1 2	<u> </u>			DEPTH OF JOI	В		
Landed Plug	E 150	ps: ;		PUMP TRUCK	CHARGE		1763.00
El . 1 11	, ,			EXTRA FOOT	AGE		
TIDAT ALLO	<u> </u>			MILEAGE	40		280,0,
	· · · · · · · · · · · · · · · · · · ·			— MANIFOLD			
^		_				@	
CHARGE TO: Co	ntine	stal Of	perating Co.				_
TREET						TOT	AL 2,043,00
CITY	ST.	ATE	ZIP		W TIC O TO A	<b>теотиру</b>	CANTON
				ř	PLUG & FLOA	T EQUIPM	rin 1
				MATERIAL TO THE PARTY OF THE PA			
•				Bine D-V Too			4,380.00
				1 Westherford	Ciment Baske		
To Allied Cementi	ing Co., I	LLC.		8 Westberford Co		_ @ <u>55,0</u>	0 440.00
			nenting equipment	I Weatherford	AFU Floot Shore	@	5/5,00
and furnish cemen				Catch do	our assorb	<u> </u>	449.00
			he above work was	and the second of the second o	•••	•	
/				•		**Am	· 59650



24 S. Lincoln Street P.O. Box 31

Russell, KS 67665-2906

Voice: Fax:

(785) 483-3887 (785) 483-5566

Invoice Number: 112934

Invoice Date: Mar 17, 2008 1

Page:

#### Bill To:

Continental Operating Co.

P. O. Box 52 Hays, KS 67601

Customer ID	Well Name/# or Customer P.O.	Payment	Terms
Cont	Stamper A #16	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS	Russell	Mar 17, 2008	4/16/08

Quantity	Item	Description	Unit Price	Amount
3.00	MAT	Gel	18.25	54.75
150.00	MAT	ASC Class A	15.05	2,257.50
500.00	MAT	WFR-2	1.10	550.00
14.00	MAT	Salt	21.00	294.00
160.00	SER	Handling	2.10	336.00
40.00	SER	Mileage 160 sx @.09 per sk per mi	14.40	576.00
1.00	SER	Longstring - First Stage	1,763.00	1,763.00
40.00	SER	Mileage Pump Truck	7.00	280.00
1.00	EQP	D V Tool RECENT	4,380.00	4,380.00
1.00	EQP	Cement Basket	181.00	181.00
8.00	EQP	Centralizers SEP 2 1 200	55.00	440.00
1.00	EQP	AFU Float Shoe	515.00	515.00
1.00	EQP.	D V Tool Cement Basket Centralizers AFU Float Shoe Latch Down Assembly  RECEIVED SEP 2 1 2009 KCC WICHITA	449.00	449.00
		Stamper 1-2-08 RWD Well New Well		

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 1207.62

ONLY IF PAID ON OR BEFORE

Apr 16, 2008

Subtotal	12,076.25
Sales Tax	483.43
Total Invoice Amount	12,559.68
Payment/Credit Applied	
TOTAL	12,559.68